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COMMERCE

Paper - 11

Government regulation of business is

basically intended to

(A) make sure all business units
have the opportunity to be
successful.

(B) warn consumers against unfair
business practices

(C) make sure business firms are
socially responsible.

(D) protect the public from the
negative  consequences  of
business behaviour.

What is not the advantage of SEZ ?

(A) Improvement of infrastructure
in the hinterland.

(B) Diversion of large tracts of
farm land.

(C) Attracting foreign investment:

(D) All of the above.

Which type of the complaints-are not

to be entertained by Censumer

Forums under the .+ Consumer

Protection Act, 1986?

(A) A defective product purchased
1Y% years back.

(B) Misleading advertisement in a
newspaper.

(C). "Services provided free of cost.

(D) . Tie in sales.

Which of the following is a WTO

procedure to promote globalisation ?

(A) Promotion of free trade.

(B) Reduction of budgetary
subsidies.

(C) Reduction in shipping costs.

(D) Promotion of foreign portfolio
investment.

5.

www.sakshiegucat

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. All questions are compulsory.

Match the following regarding
disinvestment in India :
List—1 List—11
(@) Disinvestment I. 1999
Policy by the
Chandrashekhar
Government
(b) Rangarajan I1. 1996
Committee on
disivestment in
public sector
enterprises
(c) ~Strategic and 111.1991-92
nonstrategic
classification of
public enterprises
for disinvestment
(d) Formation of 1V.1993
Disinvestment
Commission
Codes :

I inur w

(A) (¢) (d) (a) (b)

B) @ () () (d)

(C) () () (a) (d)

(D) (@ (d (c) ()

When a partnership is dissolved and

the following claims need to be met

out piece-meal of the cash released,

which is the correct sequence in

which these claims have to be met ?

(@ Any partner’s loan

(b) Capital and Current account
balances

(c) Expenses of dissolution

(d) Outsider’s claim (both payable
and accrued)

Codes :

(A) (c), (d), (a), (b)

(B) (b), (c), (a), (d)

(C) (@), (b), (d), (c)

.(D) (a), (b), (c), (d)
ion.com
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5.

IRa H fafew & gy ° et
1 et &
= - |
(a) TSWERX TWHR .
fafqarer =ifq

(b) WA & FHsEH .
T faHaer T IR
Tt

(c) fatEem W& o=
WIS, ST H
IENE T IR
AT FTeRToT

(d) TafTere
T

_—

4 -

=t - 11
1999

1996

1. 1991-92

AR ot 1V, 1993

| B [T Y
(A) © @@ @ (b
(B) (@ () () (d
€ © B @ (@
D) @ @ @© (®

ST HISIER] 1 THGA Y F7 S & &t
agal fohd g | FEfeted g@Er &
el W A fohar STar & | gE @
fHee™ &1 el ST T § 2

(a) Tohdll off WISRR T 0T

(b) ST TE SR @ o

(c) U % Td

(d) =TT T (3 Ue SIS g

%
(A)
(B)
(©)
(D)

(). (d). (a), (b)
(b), (), (a), (d)
@), (b). (d). (c)
(@), (b), (c), (d)
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7. In practice, accountants consider 12.  Which one of the following is not a
revenue from sales if a transaction property of indifference curve ?
meets the following condition(s) : . .

(A) The seller has passed the legal (A)  Negatively sloping.
or economic ownership of the (B) Convex to the point of origin.
goods to the buyer. _ _
(B) The seller and the buyer have (C) Indifference curves necessarily
agreed on the price of the have to be parallel.
goods. _ _ (D) Two indifference curves do not
(C) The buyer has paid the price of intersect each other.
the goods or it is certain that he
will pay the price.
(D)  All of the above. 13. Find the correct/ matching between
8. The main difference between E@ms of List- and the items of
. . . ist-11.

marginal costing and absorption

costing lies in the treatment of List— I List—11

(A) Direct cost . .

(B) Fixed overhead (). Increase in (i) Leftward

(C) Variable overhead demand movement

(D) Semi-variable overhead along the
demand curve.

9.  Which of the following items is not (b) Contraction (ii) Rightward
an appropriation of profit for a of demand shift of the
limited company ? demand curve.
(A) Corporate tax payable
(B) Ordinary dividend payable (c) Cross (iii) Demand  of
(C) Debenture interest payable demand more than one
(D) Preference dividend\payable commodity to

satisfy one

10. Which of the fellowing is not specific want.
appllcaple to reSp0n3|b|||ty (d) Joint (|V) Demand of one
accounting ? demand commodity
(A) Accounting Centre with changes in
(B) Caost Centre the prices of
(C) dnvestment Centre another related
(D):wProfit Centre commodity

11. Which one of the following is not the Codes :
gﬁ::;s?:s?umptlon of Cardinal Utility 0 G (i) @)

(A) Rationality of Consumer. (A) (b (@ () (o)

(B) Utility cardinally measurable.

(C) Diminishing marginal utility of (B) (@ () (© ()
money.

(D) Hypothesis of independent © 0 @ © O
utilities. (D) (@ (b) (d (o)
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7. GR WU, WER {9l e W
faR #=d § I oee Feferad
fearfeat =6t qu Far ¥
(A) fasham = @xqel & A AT
TEyeh TN Shell ST 3TN T
e e |

(B) foshar Ud shal el &l HUd W
T & |

(C) sham 3 I&qT I HEd TH I &
7 =g fAfved € for ot smd g
3 |

(D) wde w+ft

8. M AN oi@ich 3 STaTuT oA
AR &% I Y& R T J
Y foraeh aer | fed € 2
(A) VT T
(B) fer sulera
(C) uRad-E SR
(D) STY-URETHT SRS

9. U famcs -l & o Ftaraad o
Y oY ol T aisr s a1 Tel e 2
(A) PR FT 3TaT
(B)  THIROT AT ST
(C) =0TU= <A Il
(D) SHET AT 35T

10. TfefEd 5 9 0 Stisiac ofgishT o
TR TEhE ?
(A) EiET s
(B) ‘e
(€) \ et =t
(D) <M &

11, TUHTR U foversoT @ Hend
A frefatad & & A 9 e g 2
(A) ST i faasiierdr
(B) TUFTETE WY ¥ YA ST
(C) ST =l IEE A= ST
(D) T IUANTATST i FTEFREAT
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IS o5k i FEfrEd § 9 i 9
fargiom &t & 2

(A) FRUTHS T
(B) W forg o Wit ST (SHAY)
(C) SIMiFaT o%h e ®7 |

AR B ¢ |

(D) SEEAT o Teh Y ahl. Miessa
T AT |

geAl-| H T]T R G-Il H AT % AT

AT Y ST P FF Feraar 9
TE ST BT Y
- | = - 1
(@) mmHE gy (i) 96T a9k @ A
3T T
(b) HfT = GpEA (i) TET 56 BT ST
3 fagep
(c) et @) (i) TH ferferee
T METIRAT
T FH F
o s ¥ SmT
& A
(d) g (iv) 3= g
a%] H HHa §
IRadd BH W
T a%] AT
F

@) @) (i) (iv)
(A) () (@ (d (o)
B) @ (b (@© (@
€ () @ (@ (@
D) @ (b @ ()
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According to the Law of Variable
Proportions, the second stage of
production ends when

(A) Marginal productivity of the
variable input becomes
maximum.

(B) Both marginal productivity and
average productivity of the
variable input are equal.

(C) Marginal productivity of the
variable input becomes zero
and average productivity is
positive.

(D) Marginal productivity of the
variable input is negative but
average productivity is
positive.

Total Revenue (TR) function and the
Total Cost (TC) function of a perfectly
competitive market firm are as follows :
TR=480Q-8Q?
TC =400 +8Q?
The profit maximizing output would
be :
(A) 60
(B) 15
(C) 50
(D) None of the above

From a population with=mean of 220
and standard deviation jof 30, a
sample of 36 was'drawn at random.
Calculate the standard error of the
sampling distribution and choose the
correct answer from the following
options.
(A 7.3
(€)...6.0

(B) 6.2
(D) 5.0

A committee of six people is to be
formed from a group of seven men
and four women. What is the
probability that the committee will
have exactly two women ?

(A) 0.456

(B) 0.803

(C) 0.962

(D) None of the above

18.

19.

20.
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From the following Anova table,
calculate the ‘F’ value and select the
correct answer from the options
given below :

ANOVA Table

Sources of | Sum of | Degrees of
Variation | Squares | Freedom
Between 100 3
columns

Between 24 16
rows

Total 124 19
(A) 222 (B) 315
(C) 333 (D) 36.2

For.a “hypothesis test, alpha (o) is
0.05'and beta (B) is 0.10. The power
of this test is

(A) 0.95
(B) 0.90
(C) 0.80
(D) 0.15

Which one(s) of the following
statements is (are) correct with
respect to Decision Support System
(DSS) ?

(i) It (DSS) is used by middle
level management.

(i) DSS applies to
structured problems.

(iii) DSS relies on mathematical
models for analysis.

(iv) DSS is largely heuristics based.
Codes :

(A) (i) and (ii) are correct.

(B) (i) and (iii) are correct.

(C) (i), (i1) and (iii) are correct.

(D) All the four are correct.

mostly
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14. uREcHeNe Ul & FEm % AR,

SEUTE i T3l Terem QHT Bl € ST
(A) UREERIA  Tge W HEe
eGSR g STl € |
(B) uRadRit T & 3fwd
SERHAT 3T FET STkl
T A § |

(C) uRedeiict Tge o G
IR I & A & IR S
SHIgehdl d-lIcHh %_ |

(D) dWREdwid  Tge & dEd
ST RS & W 3id
ST EATCHSE & |

quT it SR w6 Fet 3T (TR)

HeT 3R Pl o (TC) Herd FefertEa

TR =480 Q -8 Q?
TC =400 +8Q?
AT SISHTHIHIOT ST BT
(A) 60
(B) 15
(C) 50
(D) SUgH | A HE T |

U gufte, S @y 220 W qHE
faaem 30 €, 9 36,41 Uds3T AT
®Y O forar STy § | ufaaas s @i
A Ffe H WHEL B R FAfcArad d
e oo shaET W

(A) 7.3 (B) 6.2
(C)e.6.0 (D) 5.0

| qEEl SR AR e % 9 ¥
SHfeRTal st |t TS B ST E | SR
1 |iferar ¥ foF wfafa & qea & @
Fa 31 fet g 2

(A) 0.456

(B) 0.803

(C) 0.962

(D) SWded H 9 HE &l |

18.

19.

20.
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FefefEd AT difesr |, ‘F’ 9o &

TOMT Y AT A 53 T foehedt | 3T
T TIT B ;

TAET dATfetnT
IRedT T | T W | W=
E2in) B Hife
T % | 100 3
&
it & | 24 16
ar
P 124 19
(A) 22.2 (B) 315
(C) 333 (D) 362

RO 0T & fold, 3w (o) &
0.05 3T &t (B) 0.10 € | 38 IXHeTor
&I &

(A) 0.95
(B) 0.90
(C) 0.80
(D) 0.15

fefaem quie fawen (DSS) & Ty |
e & @ i o1 o el § 2

(i) I€ 90 R & T~ gR1 ST
[ERIS IR

(i) & (STEug,) ouHer & F
T TS 9T We el ¢ |

(iii) Sivauy. fovewo g wvwE
Higel W MR A € |

(iv) ST@ug ic d¥ W 3FEuor
MR & |

FHT:

(A) (i) 3 (i) T E |

(B) (i) 3R (iii) I & |

(©) (i), (ii) 2R (iii) T & |

(D) SUgHT IR T E |
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Given below are two statements, one

labelled as Assertion (A), and the

other labelled as Reason (R). Select
the correct answer using the code
given below :

Assertion (A) : Strategies necessarily
need to be changed over time
to suit environmental changes.

Reason (R) : To remain competitive,
organisations develop those
strategies that create value for
customers.

Codes :

(A) (A) is correct, but (R) is
incorrect.

(B) Both (A) and (R) are correct.

(C) (A)isincorrect, but (R) is correct.

(D) Both (A) and (R) are incorrect.

Which of the following is not true

about proactive planning ?

(A) Way of thinking
managing the future risks.

(B) Anticipating
contingencies.

(C) Reacting to external events.

(D) Getting ready with alternative
routes for unforseen situations.

about

future

Which of the following .is..not a

characteristic of non-programmed

decisions ?

(A) Problems are unigue and novel.

(B) There are ne” pre-established
policies or.procedures to rely on.

(C) The conditions for non-
programmed decisions are
highly. certain.

(D) <These are the responsibility of
top-management.

Which of the following is an ethical

behaviour of a manager ?

(A) Trading stocks on the basis of
inside information.

(B) Padding expense accounts.

(C) Not divulging trade secrets to
competitors.

(D) Being severely
competitors.

critical of

25.

26.

27.

28.

29.
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Which of the following is suggested
by Blake and Mouton as the best
leadership behaviour ?

(A) Low concern for people but
high concern for production.

(B) Low concern for both people
and production.

(C) High concern for both people
and production.

(D) High concern for /people and
low concern for_production.

Which segmentation approach is the
most compatible with the spirit of the
marketing eoncept ?

(A) . Benefit sought
(B)y¢ Income

(C)». Social class
(D)~ Family size

Which of the stages of new product
development  process can be
skipped ?

(A) Business analysis

(B) Idea screening

(C) Product testing

(D) Test marketing

The price-setting method which most
closely corresponds to the concept of
product positioning is

(A) cost-plus pricing

(B) going-rate pricing

(C) perceived value pricing

(D) psychological pricing

The most important retail marketing
decision a retailer has to make is to

(A) select the product assortment.
(B) identify its target market.

(C) choose the desired service
level.
(D) develop an effective store

atmosphere.
S-08-13
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T 3w §F T €, Uh @ A

(A) T& I H HROT (R) H A9 g2

T E A S Fe W SW H T

T

AfHe (A) : THIGET T SAERe
IRl % ITET GHAR S8
3 ol S Bl & |

FROT (R) : Ue@nt s= @ & ol
T U wEifaar faeiad wd
g St Wl % o gog g
FATE |

FT

(A) (A) Tl g, T (R) Tod & |

(B) (A) 3R (R) 3T &l € |

(C) (A)Tod &, ] (R) Wel & |

(D) (A) 3R (R) 3T Tora € |

et e &% 9N § fetated § 9

T 9 &l & ?

(A) el SifEE % yeE % SR o
e T i

(B) WS 3MTehieTeh A

(C) aTer T3t o Ufd UTdTshar s

(D) 3Tt Teafeat & foa el
A o A1 TR T

sfafed s Fom B fogtaar

freferfaa & @ 1 el 8.2

(A) T AR TF 3 € |

(B) T yd-TNUA. A Ua Ugiaar
& & WX TR fomar s o |

(C) =wwy fodm foE & fo
Tefqa areenferss e et € |

(D) &3z o &l NIRRT € |

TeReh 1 Afd® FdeR HEefiad § |

HIF T E?

(A) 3= D STHHRN h YR T LIH
W BRI FAT |

(B) =@ @l & IHEYIH (IR
(afem)

(C) ufe=ifai & FRER & 95 &l
ThS HET |

(D) vl & 3Tt STereHT
HET |

25.

26.

27.

28.

29.
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=IF TH HE FRT gAY g FTER

frfefad & & ford gamr e ?

(A) @ & ol FH WER W=
SeTE o ot A TR

(B) I 3R IcURH AT * ford A
TIHR

(C) i 3R Seae= S & ford &t
T TRIFR

(D) i % o e, AR R
IR % [ HH TSR

FE O [aESHRY 3UNE, U @
STAIROT bt ST o FalTeeh T & ?
(A)  3TTIT T

(B) * 31

(C) HHST ot

(D) | ORER & THR

Ta-3ca1e, forehre ufsha bt shi | 37eren
I BT ST Hehell & ?

(A) IR faweror
(B) foamt =t B
(C) 3cuIg Tretor
(D) wretor forT

FHHA-FERT U ST 3R Tareid &
Haityss O ®q 9 gHedl &
R & 2

(A) WNTATR HHd-FERoT

(B) wafeIa shima feor

(C) Vcaeliha Tod hiad feRoT

(D) T T FemRoT

TR Taohdl ol Fead [OuuH & Ty
o U Faltas Hewaqul Mot oFT ggdr
g, Y ?

(A) FH=T SR T FI

(B) wIedd IR i Tg=

(C) aifsd Tar TR &l T

(D) TR T T UTqAeT forepiae et
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Which element of the promotion mix
do wholesalers primarily use ?

(A) Advertising
(B) Personal selling
(C) Public relations
(D) Trade show

Out of the following alternative
methods of project evaluation and
selection used in capital budgeting,
which one of the combinations in the
code corresponds to discounted cash
flow methods ?

(i) Internal Rate of Return
(i) Pay Back Period
(iii)  Profitability Index
(iv) Net Present Value
Codes :

(A) (i), (i), (iii)

(B) (i), iii), (iv)

(C) (i), (iii), (iv)

(D) (), (i), (iii), (iv)

When the expected level of EBIT
exceeds the indifferent point for two
alternative «financial plans, (Equity-
financing.and Debt-financing), then

(A). The use of debt financing
would be advantageous to
increase EPS.

(B) the use of equity financing
would be advantageous to
maximize EPS.

(C) the use of debt-financing would
reduce EPS.

(D) the use of equity financing
would keep the EPS constant.

33.

34.
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Which one of the following is not the
assumption of the Modigliani-Miller

Irrelevance Theory of Dividend
Policy ?
(A) No personal or corporate

income taxes.

(B) Dividend policy has its effect
on firm’s cost of equity.

(C) Capital investment policy is
independent of its/ dividend
policy.

(D) Stock floatation™or ‘transaction
cost does not-exist.

Match the items“ef/List-1 with the

items of List=Th
List -l List— 11

(1) “Rinancial (a) Rate of
Break- discount  at
even-point which NPV is

zero.

(i) Cost- (b) Cost of capital
Volume- remains  the
Profit same for
Analysis different

degrees of
financial
leverage.

(iii) Internal (c) Analysis to
Rate of study
Return relationship

among fixed
costs, variable
costs,  sales
volume and
profits.

(iv) Net (d) The minimum
Operating level of EBIT
Income needed to
Approach satisfy all

fixed financial
charges.

Codes :

@ (b) (o) (d)
(A) (i) (iv) (i) (i)

(B) () (@) (i) (iv)
© Gv) (i) () (i)
(D) (i) (@) (iv) (i)
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30. 9k Toshar &7 €9 ¥ HIUA MY &% 33. @wE Aifld % AReEE-Her &
HIF H A B SYAT A & ? STERTERAT fagT=T =l T e=fetEa
T QB @ T E?
(A) o= -
®) - (A) jﬁg‘léa%ﬁm I PURS IR
(C) ik Ty (B) H I TS AINTA UX ATHIeT it
(D) =TT TR T 3T TS TSl & |
(C) Yot faler Aifq oot et
' ' HfT d weAT et & |
31. ST ST H STAN N M URESH (D) Wik FHT o1 FH8T & @
Teieh Ul T3+ &l e Sshfeae T @ e
ugiadl § 9, %< H 57 I °§ 9 B . .
{T HISH 951 HE TH6S TR TEa & 34. ﬂfﬁ"ﬁ@aﬁ@-“aﬁﬁ%W
e ¢ ? FHfert
: =i~ = -
(i) TR g s FIE |
(iv) ™aa aqaE 99 (in Wﬁ' g (b) 2;; ﬁ%ﬁ i
B! fargetomor for oSt &t
(A) (i), (i), (iii) I u A
(B) (i), (iii), (iv) |
o (iii) witecr @ (c) fer
(C) (i), (iii), (iv) IR T Rl I,
(D) (), (i), (i), (iv) fent afamoT Ue
o % 9
32. W9 garIMEd. EeUAEE WX ﬁwg
mwmﬁ@mﬁm 73 RO
mm%%mﬁ@@ (iv) Froet sfera (d) wf fer faehr
’ 3 YT TR T
(A)p, SULTE. | gig A & o For- FH F e
TSRITTYOT T SN TR BT | SEIH
(B) ThTm. W s # ¥ gL, F
gfeerel foraioor 1 STET eied T 'R
g | ET
(C) ror-faaiooT s SugiT 3 Uy, i @ @[ (@© (@
T HT A | (A) (iii) (iv) (i) ()
AT & B) (@) (i) (i) (iv)
(D) %wﬁ;;%ujlaﬂswwg. 4. ©) (v) Gii) () (i)
. (D) () (i) (iv) (iii)
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37.
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Assertion (A) The focus of
working capital management
revolves around managing the
operating cycle of the working
capital.

Reason (R) It is because the
concept is useful to ascertain
the requirements of cash to
meet the operating expenses of
a going concern.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the explanation of
working capital management.

(B) Both(A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following terms,
includes the task, duties and
responsibilities of a particular job ?
(A) Job Evaluation

(B) Job Enrichment

(C) Job Analysis

(D) Job Enlargement

Match the following lists/and
indicate the correct pairing :
List—1 List = I1
1. Simple a Evaluation by
Ranking Superiors,
Peers and
Subordinates.
2. Paired b “Order of rating
Comparisen from best to
worst.

3. 360-Degree ¢ Standardised

Appraisal quantitative
rating.

4. Graphic d Comparing

Rating ratings to one
another.
The correct pairing is
1 2 3 4
(A b d a ¢
(B) a b ¢ d
C) ¢ d a b
(D) d a b ¢

38.

39.

40.

41.

42.
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In which method of performance
appraisal, the evaluator keeps a
written record of significant events
and how difficult employees behaved
during such events ?

(A) Field Review Method

(B) BARS Method

(C) Critical Incidents Method

(D) Assessment Centre Method

In connection with HRD;\what is

incorrect ?

(A) Itis a reactive-function.

(B) It develops total organisation.

(C) It focuses on autonomous work
groups.

(D) « Itis an integrated system.

Inswhich method of training, job
conditions are duplicated with
equipments and machines which are
identical with those used at the work
place ?

(A) On the job training

(B) Apprenticeship training

(C) Vestibule training

(D) Internship training

Which one of the following
techniques is used by the
Commercial Banks in India to
measure the risk arising from trading
activity ?

(A) Network Analysis

(B) Sensitivity Analysis

(C) Value at risk methodology

(D) E.V.A.

Which of the following schemes

introduced by NABARD is intended

to provide credit to farmers ?

(A) Rural Infrastructure
Development Fund

(B) Kisan Credit Card

(C) Micro-Finance

(D) Co-Operative Development
Fund
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AMMHT (A) : FEENA Yot YeeT H
T &9 HEP Ysit & uReareH
TH H UFY FH H AR AR
A |

HRUT (R) : ik @ifetd Fe (going
concern) & UEeH @ H QT
FH & (ol TS H SRl Bl
eag w3 % o I8 STauron
SYANT ¥ |

T

(A) (A) 3R (R) 31 7 & = (R),
HANCT YsT Ve I SARAT
g

(B) (A) 3R (R) IHT 3@ & |

(C) (A)TE T, W (R) 3TAE |

(D) (A) 3T &, W< (R) TAE |

fefafed 4 @49 9 9% U o
FE  (S) F FEYR, Hed U
ST 6t T & & 2

(A) FE T

(B) Tl

(C) = faweroor

(D) R foaAro

gl-1 Bt gAl-11 F QT GRS )3T
11

= - |
1. WA a/ Ya, TR e
SoffeRToT A FHEATAT
FRT Tedieh
2. gad qa ., b 3T 9§ e

T 0T HIOT AT

3. 360;%‘5?[%
qodieh

4. Tiweh
Bict

TE gHe &

(A)
(B)
(©)
(D)

o 0O v T -
D O T AN
T L2 0 2 W
oo o b~

38.

39.

40,

41.

42.
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Fome goae & fe9 ugla H
g@ﬁmae—rﬁuzr—oqﬂimaﬁao‘r AT =

geIel & IR = sHemar 7 e
THR TR fHar & fofad sifiera
@A € ?

(A) &R TRIEATST TS

(B) WRW (JIT.3IRTH.) UgMd

(C) YUl HeT TEfa

(D) 3ot s UGl

TH.R S & &Y T (57 Teld & ?
(A) T ufathaeicT B & |
(B) gaﬂqﬁwaﬁﬁsﬁﬁﬁw
|
(C) +a& WEd F& el W &
Fisd HaTE |
(D) "\, T& Tufchd T ¥ |

ufereror i R ugid H, HEEd W
& ST SUHON Te HAT & 1
Terfeat Srere St & 2
(A) -3t ufereror
(B) smifeater ufsretor
(C) ar=get rreTor
(D) AR wreTeToT

IR | Nfoisges Sl % §RT SAMNE
Tidfaty @ 3= SifEw *t 7 & ol
I | AeheiIeh sl ITFIT feohaT STIT & 2
(A) “eas fagermo

(B) WoRSiIedT fereetooT

(C) Siifed W gt HRTRIT

(D) E.V.A.

ST FRT UR™ &l T8 Fefeiad @i
H ¥ i d TG Bl HOT TS A H
fora &2

(A) TTHIT AT g faer A
(B) TdM shiee #Is

(C) = fam

(D) WeHRT faeprg Ay
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Which one of the following is a

recent E-Banking initiative in
Commercial Banks in India ?

(A) RTGS

(B) NEFT

(C) NECS

(D) NET Banking

Which of the following fee-based
services are provided by IDBI ?

(i)  Credit syndication

(i) Corporate trustee services
(iii) Custodial services

(iv) Foreign services

Identify the correct code :
Codes :

(A) (i), (ii) and (iv)

(B) (i) and (ii)

(C) (i), (iii) and (iv)

(D) (iii) and (iv)

SIDBI provides financial assistance
in the following forms :

(i)  Bills financing

(if)  Project financing

(ilf) Re-finance assistance

(iv) Resource support to institutions

Which of the following’ sequence is
correct ?

(A) (), (iii), (iv) and (i)
(B) (i), (iv)i()and (iii)
(©) (i), @) Gv) and (ii)
(D) i), @), (iii) and (ii)

BOP problems in India cannot be

attributed only to

(A) Large trade deficit

(B) Increase in invisible surplus

(C) Sensitive behaviour of foreign
creditors, including NRI
foreign-currency depositors.

(D) The  declining role of
concessional external finance.

47.

48.

49.

50.
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Arrange the stages in anti-dumping

investigation  process in  right

sequence.

(i) Initiation

(i)  Preliminary screening

(iii) Rejection of unsubstantiated
information

(iv) Provisional findings

(v) Final findings and measures

(vi) Permitting  the _(exporting
country to modifythe practices

Codes :

(A) (i), (i), (iii)s(iv)=(vi), (v)

(B) (i), (i), (iv), (i), (vi), (v)

(C) (i), (i), (i), (i), (vi), (v)

(D) (i)eGiii)s, (i), (vi), (iv), (v)

A _situation where any advantage
given by one member of the WTO to
another member is extended to all
WTO members is referred to as

(A) Trade Diversion

(B) Inter Regional Principle

(C) Most Favoured Nation

(D) Least Traded Nation

The collapse of which of the

following systems is related to the

Triffin Paradox ?

(A) Gold Standard

(B) Exchange rate mechanism (in
1992)

(C) Bretton Woods

(D) None of the above

Which of the following is/are the

assumptions of the Law of One

Price ?

(i)  Restriction on the movement of
goods between countries.

(i)  No transportation costs.

(iii) No tariffs

(A) Both (i) and (ii)

(B) Only (i)

(C) Both (ii) and (iii)

(D) (i), (i) and (iii)
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43. 9RA H aIITs S B OB & H 47. SOt Sita uishar t staenet &
TSR Teet TefeIfad o & i 9 € 2 Tl Y § A Y
(A) RTGS (i) e HE
(B) NEFT (i) VRS S AT
(C) NECS (iii)  3ToITOT STeRRY T T8 AT
(D) NET dfT (iv) o aRoTs
' (v) oIfa| 9o v U
44.%13@&@@?@@3@@% (vi) Fa &= am 3w @ e
Tat IDBI gRT 98 & et & 2 TR = gehE RS
(i) o1 fafvgere ar T sAMT SART 3
(i) e =i das -
(ili) - sfeRer Femd A Q) G, Gii(iv), W), ()
(1v) et e e (B) (i), (i)iv), (i), (vi), (v)
TEl e Fa (C) (i), (iw), (i), (i), (vi), (v)
% (D) « (i), (ii), (i), (vi), (iv), (V)
(A) (i), (ii) 3R (iv) .
® 0 - g
(©) (i, (i) =i (iv) e 3, 5 e o o e
(D) (i) ¥ () \rlldla%,wehﬁcdldléf?
15, Fach Freean e fade e o e
?;HE%&: ; (C) Watyes axiFar uTe T
(i) s fe (D) =TT HRIERS T
(ifi) A Fer 49. FeAfeifed § 4 ®F @ wgEn w
(iv) Waﬁa%ﬁaﬁw faear, fefthm ReioRy @ graf-d & 2
(A) (1), (i), (iv), (i) (B) fafma 33 frafat (1992 )
®) (i), (v, (i) ©) 3% 358
(C) (i), (Div), (i) @?i—cﬁ\' ‘
(D) (v), (@), (iii), (i) ®© A
\ . 50. ‘U A % [ S A e
46. 9RE.H YA Gqei i FHET T HROT TR Y
Frefefad & 9 ot & a1 Tal & ? i) = > S TR T W
(A) =UR | Il =T ey
(B) g ik § Jig (i) s IREeT v @A |
(C) wiememe  fowEl  wEE (iii) e Ioh TET & |
(Feepeiet  wE)  feee (A) (i) 3R (ii) 3
FROTETATA T Golg-3NeT S8R (B) a,—o,?,[(i)
(D) Ramem smr fom = wedl g ©) (i) 3 (iii) 3+
e _ (D) (i), (ii) 3 (iii)
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